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01 24 354,647 334,947 19,700
Ol== 237,424 221,079 16,345
O 73(1152) JH 2,288,700 «3H «122 82,394 49,786 32,608
O 9345 =) AN 1,355,300 x2H «12% 32,528 48,791 A 16,263
O A0 g 26,104 25,984 120
O HILdIe=2 7,680 7,560 120

10 0| A ~15H 0] Bt
2 60,0008 »2 « 128 1,440 720 720

54 0| A~10E O Gt
2 50,0008 »3% x 122 1,800 2,400 A 600
O NHBAY 17,068 15,374 1,694
O MEsH x4 3,388 1,694 1,694
nk=4-m| A 423,480 2% %43 3,388 1,694 1,694
O AMzz=esg 28,423 26,882 1,541
O 73 B 8,754 %331 2F+3% x 122 10,400 6,713 3,687
O 82 BHE 7,860 *33A1 2H+2% x 122 6,226 3,014 3,212
O 93 2 7,104 %33A1 2k 12 x 122 2,814 8,172 A5,358
204 =223 AH| 13,680 13,260 420
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